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What is the answer to this Question. Have you seen her?
(2) yes, 1did. : (R) yes, I have.
(3) yes, I saw. ; (%) None of the above

" Which sentence is correct?

(2) You have to leam these words at heart.

(R) You have to learn these words by heart.
(3) You have to learn these words for heart.
(¥) None of the above. '

Find out correct voice form of the sentence ....... Steven likes to play baseball.
(%) Active Voice () Passive Voice

(3) 1,2both (¥) None of the above

What are typlcal smga] word the Present Perfect Tense?

(2) usually (R) lastnight (3) ever (¥) at the moment
Which verb forms are used with the Present Perfect?

(2) Have + Past Participle (?) infinitive +ed

(3) had + Past Participle (¥) Had + infinitive +ed

Fill in the blank. (verb) On Sundays the student ...... early.

(2) Does not get up - () do not getup

(3) not get up (¥) None of the above

Which Words/Pharse can be used in if-clause type-1?

(2) Had played . ' () Play

(3) Played ' (¥) None of the above

Which type of the conditional sentences is used? If it wasn't so late, I would go
shopping.

(%) typel (2) type Il

(3) type Il (¥) None of the above
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Define the underlined parts. Why do you buy Comics?

(2) Auxiliary (R) Verb i (3) Questionword (¥) Subject
Which article can be put before the following Phrase? ...... one dollar bill is?
(2) A ' : () An

(3) The (¥) None of the above

What's the opposite of to break? _ :

(2) tojoin (R) to fasten (2) to mend (¥) tobuild
Choose the correct spelling.

(%) Acquisetion  (3) Acquestion  (3) Acquistion (¥) Acquistion

Decide whether the sentence contain a Gerund or a progfessive—
Reading books can be great fun. :

(%) persent progressive- - (R) conditional

(3) pastcontinuous (¥) Gerund

Choose the correct perposition . The Police car chased the robbers ...... the streets.
(2) on () among . (3) between (¥) through

Put the missing forms of verbs- The dog is being taken to the vets : (leave/left) ....
(%) leave - (R) left

(3) live _ (¥) None of the above

Find out tense of the following sentence- The dog is being taken to the vets.
(%) Present Perfect. (?) Present Perfect Progressive

(3) Present Progressive ' . (¥) Simple presen't'

Find out correct animal and young ones pair. | '
(2) Drone - bee  (R) Swan-cygnet (3) Stag - colt (¥) Caterpillar - mare

Seema is good ...... running. (perposition) _

(2) for () to (3)in. - (¥) at
One who sacrifices his life for a cause. : '

(%) Patriot (R) Martys (3) Revolutionary  (¥) Soldier
Which sentence is correct? : :

(2) Where are you? : (?) Who are you?

(3) a, bboth (¥) None of the above

Find out correct meam‘hg of idioms - I am afraid you two are at cross purposes.
(2) Misunderstand each other (R) betrated ne ;

(3) in the same way i (¥) without deliberation
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Fill in the blank. ‘My grandfather lived to ...... age.’

(2) tall (?) big : (2) high (¥) great
Tell me where you live - Find out type of Sentence.

(%) Simple Sentence Loh (?) Compound Sentence

(3) Complex Sentence . - (¥) None of the above

Fill in the blank. ‘Hey John can you ...... that sound.’

(%) hear (?) listen (3) give ~ (¥) take

Parts of a country behind the coast or a rivers banks.

(2) Lsthmus (?).Archipelago (3) Hinterland (%) Swamps
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